


If a three-digit number ‘abc, has 3 factors

P —_— a 3%&% how many factors does the 6-digit number
‘abcabc’ have?
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Placing Which of the following two digits

(/’5 at the right end of 4530 makes the
3034’ resultant six-digit number divisible by 6,7
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Let p be a two-digit number and q be the
PX W"—IQ\HSD number consisting of same digits. Written
ny ﬂ'l. in reverse order if pxq=2430

I l Then difference between p and q?
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What is the remainder when
\/

v 91x92x93....... .99
X2 3599 1g givided by 12617
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A number n is said to be perfect if the sum
of all its divisors excluding n itself is equal
to n, an exemplar of perfect number is?
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The number of composite numbers
between 101 and 120

101,\1,\12(?,‘\%3: Fel el FFd TEAN §?

(a) 11 (b) 12
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Total prime no. between 1 and 2007
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Let p be a prime number strictly greater
than 3. Then p2+17 will leave remainder k,
when divisible by 12, then the value of k

is?
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(a) 1 (b) 5
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If ab, cd, ba, and dc are two-digit numbers
Qb'*(d th th ] 1 f
X‘bc‘fd ) en e maximum  value o

(abx cd) ibaXdC)IS where a, b, c, d is
Iooqc"-%’l")é'ﬂ?&imtmct non-zero integers:
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How many natural numbers up to O are

divisible by either 5 or 7 by not by 117

1155 a& fast ygfas TR g N5 M7 &
Rfara & afda 11 & a@r?
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N= IR+

The remainder when n is divisible by 3 is
1 and the remainder when (n+1) is divided
by 2 is 1. The remainder when

(n-1) is divided by 6 is?
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(a) 2 3
(c) S (d) None of these



A student of 5" standard started writing

down the counting numbers as
I"' ----h 1,23 8000000 and then he added all those
numbers and got the result 5S00. But when
I checked the result I have found that he
Nnkl) _

SW 'l-mwmissed a number. what is the missing
P

{

ts furfd 5 &t waw fr Padr PEar §

5*3 1,2,3,4..... 3R ag a1 & Wil @egar &+ Szan
‘\’(\G g 3k aRoma 500 wrca gar § AfFa s9 A
1523 3 Romr 1 e awan § @ # rr § B e

U HEAT DI 41 af IS §§ i ° Ai?

X 2?@ * "3
(a) 25 (b) 32
(c) 30 s



NNH) _
X

1\_()’\'”): (00042 %

WD = | o320
23 Qa3

DR (10y4_D M =EH

1174 @

= Qo +%




A nine-digit number abcdefghi is such that

a is divisible by 1. Ab is divisible by 2, abc

is divisible by 3 and abcd is divisible by 4
‘Q‘O(d ‘betl and so on where none of a, b, c, d...... i%
same and every digit is a non-zero digit a
number is?

PR % 9-37HT HEAT abedefghi 37 TFR ¢ & a
B 19 @S a g ab2 @ AfSa § abec 3 @
fasnfara § 31X abed 4 & fasnfoa & W & amar
\1 $ Toldl &dT & S8l a, b, ¢, d..... E Y AT 78

¢ IR vAF IF N 3% ¢ a FEALE:

(a) 123456739( (b) 381654729 ([}
W2) 126453789  (d) 826435791 o4
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When two +ve integers A and B are divided
by another’s number D, then the
remainder obtained were 23 and 3
respectively. Further when (A+B) is
divided by D then remainder is 26, then
the value of D is?

J9 a1 UeaeA® Ui A AR B # R gEd
FEGT D & T fGan Srar § Y AWse FAU: 23
I 3 urcd @d & X A+B & D & smer R
JATaT § o AP 26 WIed g § df D &7 AW

FIT Ie1T?
(a) 62 (b) 69 (c) 26

\_id) Any value greater than 26



The number P when divided By Dit leaves
the remainder 18 and if another no.Q is
divided by the same divisor D it leaves the
remainder 11. Further if we divide P+Q by
D then we obtain the remaindu Then
the common divisor D is?

U$ HEAT P F 59 D ¥ fFanfaa frar sar &
dar AN 18 AT ¢ IR I q@r wEATr 8 F
3 ot D ¥/ W AT Srar g ar Avwer 11
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(a) 22 (b) 15
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If a no. of two digit is ‘k’ times the
sum of its digits,then the no. formed by
interchanging the digits is the sum of the
digits multiplied by?
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If ab+4=cd and ba+40=dc where ab, cd,
ba, and dc are the two-digit prime
numbers, furthers b and d are the prime

M numbers digits and/a, ¢ is neither prime

cd ab + ba
- dc‘ nor composite the value of ( ) is:
cd +dc

loi.,d Ify ab+4=cd 3 ba+40=dc ¥ ST ab, cd,
34y Pi™a, 3 de @ s e wEA ¥ 3R b
|4 3T d St TS FEAI F HF § 3N a, ¢ AT
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(c) 2 (d) can’t be determined



The sum of the squares of the digits
constituting a positive two digit number

"y
is 13. If 9 is subtracted from that
L
A ‘\'%-:: \‘5 number, we shall get a number written
by the same digits in the reverse order.
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411 + 412 + 413 + 414 + 415 g djvisible by a

h (h Pt
two digit numberwi‘:'ﬂen E’ﬁd the diff.

between its digit &

411 + 412 + 413 + 414 4+ 415 B
J*g ‘?ﬁaﬁlﬁﬁ?

9@ 9 ﬁi‘thﬁ,
sUP 3Pl $ d4
A 2

(c) 3

Jd¥ Sd Difuv

(b) 1
(d) 4



Two numbers a and b are such that one
is odd and other is is even. Which

.\ b statement is necessarily true?
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In a nine digit number 89a64287y is
divisible by 72, then what is the value of

(a%-y9)?
Udp il bl & AT 89264287y # 72 ¥
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The sum of three digit number abc, bca
and cab is always not divisible by

(00040 & 9 3Bl DI &I abe, bea X cab &I
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